
Insert and loosely tighten all screws.When assembly
is completed,fully tighten all screws before using.
This chair is only intended for sitting.Any other use
will void the warranty.
 

Customer Service Hotline:1-800-593-1888 For further assembly instructions,please visit our website at www.bosschair.com

IMPORTANT NOTICE:
HARDWARE PACKAGE IS ATTACHED
ON THE BOTTOM OF SEAT CUSHION.

 Left arm*1

 Right arm*1

Headrest*1      

Base*1   

Seat Cushion*1

Mechanism*1

Backrest*1      

Casters*5

(4*20)*2 

1 2 3

3 4 5

6 7 8

9

10 11 (M6*30)*6 (M6*20)*2 

(M8*20)*3 (M6*25)*2 Allen Key*113 14 15

12

16

Gas lift*1   Gas lift cover*1    

Cross screwdriver*1

9

1 2 3 4

7

7

5 6 7

>275LB

8

7

6

14

3  1

3  2

2

1112

4

13

4
7

5

10

（1）

（2）

（3）

Headrest
Assembly
Step:

11


	页 1

